Subject: Re: How is this possible?
Posted by Wayne Parham on Sun, 21 Mar 2004 03:27:26 GMT

View Forum Message <> Reply to Message

Inductors are coils, and when energy is applied to them, voltage rises across the coil before
current flow increases through it. Capacitors are two plates separated by an insulator and when
energy is applied to them, current passes before voltage rises across the plates. This is why
there is a phase shift associated with these two reactive components, and it is also why they are
in opposite directions. A resistor has voltage and current rise at the same time when energy is
applied, so phase is zero.
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